Písemná práce 24
Převeď      
A

7 000 000 g = ........ kg

80 q = ........ kg

6 000 000 mg = ........ kg

4 t  = ........ kg
B
9 000 000 mg = ........ kg

8 t  = ........ kg

20 000 g = ........ kg

30 q = ........ kg
řešení
A
7 000 000 g = 7 000 000 : 1 000 = 7 000 kg
80 q = 80 * 100 = 8 000 kg
6 000 000 mg = 6 000 000 : 1 000 000 = 6 kg
4 t  = 4* 1 000 = 4 000 kg
B
9 000 000 mg = 9 000 000 : 1 000 000 = 9 kg
8 t  = 8 * 1 000 = 8 000 kg
20 000 g = 20 000 : 1 000 = 20 kg
30 q = 30 * 100 = 3 000 kg
